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QUESTION 1

Which three compression programs can tar use to natively filter an archive? 

A. Zip 

B. Bzip2 

C. Gzip 

D. Xz 

E. Cpio 

Correct Answer: ABE 

Linux Archive Tools (tar, star, gzip, bzip2, zip, cpio) Reference: http://www.usinglinux.org/archivers/ 

 

QUESTION 2

Which two actions are the required steps to prevent: non-root ssh access to the system? 

A. Ensuring that /etc/pam.d/sshd includes: account sufficient pam_nologin.so 

B. Create the /etc/nologin/login.deny file containing a single line +all 

C. Creating the /etc/nologin.allow file containing a single line root 

D. Creating the /etc/nologin file 

E. Ensuring that /etc/pam.d/sshd includes: account required pam_nologin.so 

Correct Answer: DE 

D: If the file /etc/nologin exists, only root is allowed to log in; other users are turned away with an error 

message. 

Note: 

* In some cases, the security policy may dictate additional mechanisms, such as TCP wrappers, Pluggable 

Authentication Modules (PAM), or the implementation of Security-Enhanced Linux (SELinux). 

 

QUESTION 3

Examine the commands and output when trying to start OSWatcher Black Box. 
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Identify two recommended solutions to this problem. 

A. Edit the startOSWbb.sh script to specify your proffered shell, ensuring that it is started in POSIX compliance mode. 

B. Install ksh on the system, if not currently installed. 

C. Create a Symbolic link /usr/bin/ksh that points to /bin/bash. 

D. Ensure that ksh is accessible with the path /usr/bin/ksh. Create a symbolic link if necessary. 

E. Create a shell alias called /usr/bin/ksh that expands to /bin/bash. 

Correct Answer: AC 

 

 

QUESTION 4

Which two actions should an Oracle Linux administrator perform to configure a server so that its clock is synchronized
with a reference time server? (Choose two.) 

A. Run ntpd at system boot to ensure that the system clock is synchronized with the reference time server 

B. Run rdate at system boot to ensure that the system clock is synchronized with the reference time server 

C. Run the ntpdate daemon to update the system clock, thereby keeping it synchronized with the reference time server 

D. Run ntpdate at system boot to ensure that the system clock is synchronized with the reference time server 

E. Run the ntpd daemon to update the system clock, thereby keeping it synchronized with the reference time server 

F. Run the rdate daemon to update the system clock, thereby keeping it synchronized with the reference time server 
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Correct Answer: ABD 

 

QUESTION 5

Which two are correct about the oracle-rdbms-server-11gR2-preinstall and oracle-validated RPMs? (Choose two.) 

A. They are only available to Oracle Premium Support customers 

B. They contain a number of other RPMS that are required for a successful Oracle database product installation 

C. They have dependencies on a number of other RPMS that are required for a successful Oracle database product
installation 

D. The oracle-validated RPMS if used, must be installed before installing an Oracle database product 

E. The oracle-validated RPMS if used, must be installed after installing an Oracle database product 

Correct Answer: CD 
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